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I Further discussion about DR 91071 using the ratio of 1/60:
a /N2 22 pwa an egg is permitted if there are 61, but not 60
i Response: this settles a question about 5"277s ruling (60 — nMOR; 61-nIMn) if the 61 was besides the offending egg
1 And:Rar 9210w 1 (who reported 1+t ruling) settled that the 61 includes the 1o
2 Note: vabn 1 explicitly ruled this way
b Responses of 227 »2: to requests for 91071 with less than 1/60
i »27 72 271 was asked to use 1/45, but he noted that father wouldn’t even use 1/47
ii 237 72 w77 was asked to use 1/43, but noted that father wouldn’t even use 1/45
iii 477 “r noted that there wasn’t even 30x of 1n’n present
1 Possible inference: had there been 30x he would have declared “nmn
2 Incorrect: he was astounded at the question — since there wasn’t even a ratio of 1/30
c  Reports: in the name of 9”17 quoting ®19p 72
i Nan 92 4717 77 he ruled that 1/60 is the 1w
ii ~ »on “1 he ruled that 1/100 is the Myw
iii  Note: both inferred from the cooked arm of the 1’1 »n%w (v. 1) which is MR to YR (v. 2)
1 A5w2 means “complete”; »"21w1 —means “cooked with the animal”
2 Dispute: whether it is cut up and then cooked with = or first cooked entire and then cut up
(a) Or: all agree that it is cut up first; dispute if it is cooked in separate pot or with »x
(i) According to: 1% version — all agree; to 2" version — according to »”aw1 (cooked with »R)....
(ii) 72177 we measure meat and bones vs. meat and bones = 1/60
(iif) ’o» "1 we measure meat against meat — 1/100
3 Challenge: we can’t infer from n%wa y11; per addendum — MR 9551 Ran N 10T, implying its uniqueness
(a) Answerl (»ax): this statement is only for nmn> "7, who holds that »na pn is not Y01 — but here it is
(i) Challenge: why doesn’t he infer from nwa »1 that ywna pnis Sva
(if) Answer: he infers from v. 3 (since 1»wn 07T, which is much less, is still identifiable after being mixed)
1. Question: why did he use v. 3 as the model and see v. 1 as the exception?
a.  Answer:v.1isawmn (MoK Y90 R1n °n) and can’t be used as a model
b.  Challenge: if so, don’t use nYwa yy1 for 1/60 or 1/100 either
c.  Answer: that is a RImn, as n”nn, 11 Py is nullified in majority (Yva X111)
(b) Answer 2 (827): needed to respond to principle of 7p*»3 Dyv, which is w7pP2 MOR - but here is 1N
(i) Challenge: why not infer from here (that 9p’»3 &Y Dyv)
(if) Answer: v. 4 establishes model for mw7p — nkon “infects” anything to have its status
1. Question: why use v. 4 as the model and v. 1 as the exception? (etc. as per above)
(c) Answer3 (8227): needed for nn oipn (where the cut is) which is normally Mo — but in Y191 — permitted
iv  7aN’s reaction: to hearing that the 119w might be 1/100
1 Challenge: 1-1:1 91y — that which leavens, seasons or is YnTn is PANNY — is N”an; PANAN YN — N"RVan
(a) And: n"Rwan example is beans with lentils — if there is no v, whether or not there are 101 of P —amn
(i) Assumption: there must be 60
(if) Rejection: there are 100 — xw» is 101, ra*0 is 100
(iif) And: reason that "W (leavening) prohibits at over 101 is that it has a stronger impact
(b) 7an remembered something from R1n 91 >01 "1 — not all DN are alike,
(i) For instance: fish juice requires 1/200 to permit, per nTn’ "1's measure of ny’17 (of MO2R) / 2 NRO (IN7N)
1. Challenge: nm 1 holds that yna pn is not Y01
2. Answer: 07 X is just liquid (xnYya xon)
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